o5 & ftgee] ofd g B =7 (
@ {29 49 65 85

, 998, 1000}
@ {alxi= 429] ok}
@) {aiv= s0mTH 2 59] w4}

@ {x2 <x <40 A}

@{6, 12, 18, 24,---}

@ {1, 2, 3, 6, 7, 14, 21, 42}
® {55, 60, 65, 70, ---}
(OF7}




2. HEFT A

Mo

n({0,1,2}) =2
<{xlx— 1) o)) =
n({1,2,3})) —=n({1,2})) =
({xlx—— 10E T 22 2Hd41) = 10
(l2

N =

@ntte

~&B

® n({0,1,2) =3

@) n({xlx— 49] o]:/‘\) =n({1,2,4) =3

® n({1,2,3) - n({1,2) =3-2=1

@ n({xlx= 102 22 ZFAF)
—n({1,2,---,9) =9




@

® {0, 1, 2}

@ {0, 2}




AR A, B7L h0) WA VI 1), UG B2 H5T AL

A B AUB
{a, e} {a, e, 1, 0, u}
@ {i,o) @ {i,o,u} @ {a,e,i}
@ {a,i,u) ® {a,o,u}

A={ae}, AUB={a,e,io u}°|B= {i,o,u} C BCla,e,i,o,u}

o|tt.




T A& A =12,54a,B=1h910} 7tANB = {5,9} & W=
AUBE davtgrio s yed 227

@ {2,5,10) @ (2,5,9) @{2,5,9, 10}
@ 1{5,9,10,11} ® {5,8,9,12)

ANB=1{509 °|B= {59} c {2,5,a},{5,9} c {b,9,10} ©]T}.

w2t g =9,b=5°|E& AUB = (2,5,9,10} o|t}.




T A3k A, B o tiste]

A = {x|x= 1080t 22 A5}, B = {x|x= 9 o|ote] &4}
o, o F &2 A2

@ 10eA @ 9¢A ® AcB
@Dch ® A=B

Qo]
=

A=1{1,2 3,4,5, 6, 7, 8, 9},
B=1{1, 3, 5, 7, 9}

D1o¢A

@9€eA

®A¢B

®A+B




@ 1 @)2 ® 3

A=BO|BE x-2=0,x+4=6

Lo x=2




ol
RS
jay!
o

D o

@{2, 4, 6}

@ {4, 6)




X—];'q];(h'ﬂ—U {1,2,3,4,
of tiste] o & &2 A2

O A-B={24} @ B-A={3,5)
@) - By =124 @ A°=(1,2,4)
® B = (1,3,5)

Fol4 e Wl tholo 1HOR ek
W cha vt 2o

®A-B={3,5}
@B-4A=(24
@ A€ = (2,4}

® B¢ ={3,5}




10. thg Wl thololTRio] A 8g ¥ b HEe?

® AuBUC @ C-(AUB) ® (AuC)-B

@ (BUC)-A @(AnC)—B

B

;A:B;
@
C
%A:B;
@
C




@ 10 3 28 ®)35 ® 36

@9

)

ol
o

T~ x+y=35




A = {x| x= 202 T} & 49]
Stal 4 & E3JFoHA]

o o,
[y

!

@ (12

® {12, 16}

o) o R

@ {8, 12}

@ {8, 12, 16}

SollM Y412

o FEAGo] obd 217

@), 12, 16, 20)
B ‘

A={4, 8, 12, 16}

HAA7F0 Q) HFEHE o

BA7F1 7RI FEAS ¢ (8}, {16}

HA27F 2 RQ1 EEAZ ¢ (8, 16}

ola1, ZtZte] Y3to] Y412 E ¥ OoH 4 12 § ot 4
£ Z35lA] o= et A o FEXT o] "t




{2, 3)cXc{2 3,5 7)0laL YA Mrh4 7R A x o o
59 27

O @ 18 ® 19 ® 20 ® 21

(2,3)cXc{2 3, 5, 7} o|R&2

42 2, 3 & ZJoh= {2, 3,5, 7} 9o HEHL 5 949
=7t 4 Q) FFES 5 At

a2, 33 AL (5, 7} o HEHHL o, (5}, {7}, 5, T} I
A7t Qleng Y4 2, 3L HtEA] meels [t A o B
—‘ﬂr@%}ﬂl_m 3}, {2, 3, 5}, {2 3, 72, 3, 5, 7} ©] itk 9]
% 929 L7 4 QN A2 (2, 3, 5, T} o|BE A4 2
2+3+5+7_17 ojrt.




14, oS = 22 oke A

A

flo

ne

AEH?
@ ACBO]%AQB:AO]E]-

@ACBO]EE A C B¢ o]q_

® B-A=BnNA

@ AnNe‘=A

GIU -2 =ANA°

®ACBO]gACDBc o]]:]_
@ AN

@U—@:U:AUAC




15.

AN U = {xlx= 8 0I5t 25 9]
Al l"i——‘%é% A= {xxE 8 0l5t9] &5}, B={1,2,3,6}, C = {1,5}
7F At

AARAG U o 7 2489 X, ¥ ol tisto] Xoy = (XU Y)N (X UY)
olgt & uf, (Ao B)oC E?

@ {1,3) @ {1,5) ® {1,7}
@ {1,2,5) @{1,2,6,7}

~&B

=1{1,2,3,4,5,6,7,8},A = {1,3,5,7} °|th.
XoY=(XUY)N(XUY)=(XUY)-(XNnY)olB&
AoB=1{1,2,3,56,7 —{1,3) = {2,5,6,7} °]th.
w2tA (Ao B)oC ={1,2,5,6,7) — {5} = {1,2,6,7} ©]t}.




